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1B R Ea 59.23m  17.921F
2B R mE 57.13m  17.281F
3R EtE 0.00m 0.001F
IENRETR 116.36m  35.201F
R—FREE 1.86m 0.561F
NJLAZ—KEE 9.52m 2.881
Ao EE 0.00m 0.001%
Wik 1+ E*E 0.00m 0.001F
E T EiE 127.74m  38.641F
BEAKIE 11,437,661

S ERfeEE KIS 236,700
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FERETE 116.36m e T Eia 127.74m
NO IH H A HE B H{f &% iBE
1[{REXE H 1 = 383,722
200ERTE 1 = 876,849
| AT EH(EERIA) 1 = 2,609,980
A RITEH(HNEBEE) 1 = 1,741,513
5|BETE 1 = 378,700
6|FbE-tRETE 1 = 83,680
NEE-ZMIIE 1 =X 209,500
SIIMAEBETE 1 = 986,200
IARHEFEETE 1 =% 404,250
10|REETE 1 =% 267,800
N|ZEETE 1 = 0
12|EXEEIE 1 = 530,400
13|§#8HEK-HR-FEERBIE 1 = 700,200
14|FF-HHREIS 1 = 930,000
15| T = 1 =X 208,178
16| B AT40JTHE 1 = 1,126,690
17[/METH1 11,437,661
18| MM ERFEHEKTE 1 = 236,700
9|NMETE =

20|/ Et2 11,674,361
21| 70T71—RXE 20 % 2,135,163
22;6E TR 5] % 690,476
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NO IH H e R BE | B E{f &% E=
1[5 B B35 FEER{TE 116.36 |m 800 93,088
2|BiFAYa—b 260.00 |m 150 39,000
SURERRAL 1.00 | 18,000 18,000
A EEREYMLS AtEL 2.00 [& 42,000 84,000
5| AER—F0H 1.00 | 24,000 24,000
6|XEEHR 116.36 [m 350 40,726
1FEELEE 116.36 [z 300 34,908
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1#EE4 JLhvrEED 116.36] m 11,000 1,279,960
2| -EE/N\vx 116.36 m 1,200 139,632
3 EEM 45%30 45%45 60%*90 116.36 m 3,000 349,080
4|8T-ERXR-RUK 116.36 m 1,000 116,360
5|FTEM (1K) BEHER28mm 30| #® 2,800 84,000
6| FTEM (2FEKR) BEHAER28mm 36| 2,800 100,800
1| EEM (EFithiR) BEAERTI2mm 35| & 1,200 42,000
8|FEEM HXRHR—F 4 & 2,500 10,000
O|FTEEM AZ712mm 30 & 1,200 36,000 & 1
10| K TR 1 BAIE 12| AT 20,000 240,000
11 KXTFHE2 NLO——EEITE 288 i 10,000 28,808
12| EEBLYyA— 1 = 38,000 38,000
13[ BT EAH (FR) 50.00 m 750 37,500{40mm REAOT74+—L
14| Br 241 (BE) FeiE BT EL 17000, m 300 51,0004 A2t 75mm
15| B EEt (EBAR) K FH B ER 58.000 m 980 56,840/ <% JL—2100mm
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1| FnEH xR 160 m 180 28,800
2|FnEM =8 120 m 800 96,000
3| FEM BEER 1 =% 120,000 120,000
41$TEM EERFTY 1 =% 20,000 20,000
5|$TiIEM L EHAE 1 X 9,100 9,100
6| FTiEHM AN 2l K 5,800 11,600
1| FEM FREK 2l K 6,400 12,800
8|¥TEM PR T 4R A 1 & 6,000 6,000
O|FTEEM 20— 45 29.00 fr—R 8,200 409,700
10(ETiEH AER—K125mm 244 ¥ 420 102,480
11[FiEM AER—K9.5mm 82| 330 27,060
12|31 EM Z K154 3] &K 6,000 18,000
13| KT FR4 EEIE 3520 1iF 25,000 879,973
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2|EX4E 16/ m 1,450 23,200
3IFLY 2| & 1,900 3,800
ABEY 0 =K 480 0
5|RMEHEY 16] K 780 12,480
EY% 12| @& 420 5,040
1MEF 12 @& 360 4,320
8| T & 1 = 25,000 25,000
9
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1[EBEEMAR EILZIILES|E 38 m 1,500 57,000
2| R—F-tREhE LIS Doy v—H 1 = 30,000 30,000
3| R—FRAILEEY 36] m 9,000 32,400
4| %21 ILEEY 1.7 m 9,000 15,300
5| L=Vt e EILZIILEITHEZ 496] m 5,000 24,800
6|IEFORTYS 1| &fr 25,000 25,000
1ERBEKBESTH 1| &fr 25,000 25,000
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NO IH H e R HE | B E{f &% E=
1[3=ZBERT 1 a 126,000 126,000
|BFOF7 1 =) 53,100 53,100
3|y A—{TIRHEE 2l & 92,000 184,000
AREE 3] & 52,900 158,700
5|EES5LER 1 =) 23,400 23,400
6|#t T L +FIX 2l & 37,100 74,200
7NIL—N—& 3 =1 28,800 86,400
8lHER) LF 4 & 31,800 127,200
IA—=UIE 1 a 44,200 44,200
10[(HL—U S vy — 1 =X 63,000 63,000
11 ER - RS 1 = 46,000 46,000
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= i 986,200
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1[FRFET W=1202 H=2043 1| vk 36,800 36,800
2|FRHF7 W=848 H=2038 4 vk 21,200 84,800
3|kMLET W=768 H=2043 2| vk 27,200 54,400
41 F5IF W=1639 H=2043 1| vk 28,200 28,200
5|0—F v W=1632 H=2364 2| vk 29,100 58,200
6|70—t vhEE W=1234 H=2364 3| vk 24,400 73,200
eI AAYG W=1639 H=2038 1| vk 38,100 38,100
8| BEER T URAHEE W=730 H=1200 2| vk 12,500 25,000
9|IRF7Rbw/S— < rybR 5| (& 1,050 5,250
10|F&H1=Y 1 & 300 300
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15
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24
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NO IH H e R BE | B E{f £%8 E=
1| ERE 1 2N 98,000 98,000
2| BATECHR 21| &P 2,200 46,200
[ RAYTF 15| 7B 2,200 33,000
4|3% (488) RAYF 3| &P 2,800 8,400
5|7R2ILRAAYF 3| &P 3,000 9,000
6|20tk 18| PR 2,200 39,600
1NT7—RfFEartk 3| 7P 2,800 8,400
8|fhkar Uk 1| &P 4,600 4,600
9| TLEIRF 3| 7P 4,800 14,400
10| EBEEinF 2| &P 9,600 19,200
11(—Z5—RAa vtk 4| 4~ Fr 7,200 28,800
12|TVA 2 3—RY 1 = 35,000 35,000
13| P4TBC &R 1 =% 9,600 9,600
14|) B ERER 2 = 3,600 7,200
15[ 57 (24 F5R) L] 1 =) 19,800 19,800
16[#57E (24F5R) kL 2l B 18,600 37,200
17K KRN 2R 4 B 3,500 14,000
18|24 MBS R)—T 4| 4R 7,000 28,000
19|LANEZ #2 4| B 7,500 30,000
20| BRIV U 2| 7Er 6,000 12,000
2|5 54k 125¢ 8l & 3,500 28,000{ 7k EY) - %EH-ERF - 255
2|TLEF TS Al &
23|HEEAZRE B
24
25
= i 530,400
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& i 700,200
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NO IH H e BT BE | B E{f £%8 E=
1[/N)La=—PBKIZE JOLF— 952 m 12,000 114,278
21— 5 IE 1 = 20,000 20,000
MTLEY 1| vk 18,900 18,900
4|7 0—EyRERHR =900 2l ® 5,200 10,400
5|70—t v A ERHH L=1800 2l &, 7,400 14,800
6|/ N\ H—1 (T L=1800 2l XK 1,400 2,800
RSP} 1 = 15,000 15,000
8| HitR 6] M 2,000 12,000
9
10
11
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14
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21
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EEHAT4VTHR—F KMEW EK3571FH 140 & 3,100 434,000
2|E1E HFBERH KMEW EKP3571FH 18] &K 5,800 104,400
A==\ EY JOH7088 5] & 2,600 13,000
4| HiFE JOH7088B 3 & 1,260 3,780
6|1ES A4 1 e 550 550
&8 1 #a 32,200 32,200
8| B FHET 1 #a 7,200 7,200
9|t EBETIKLIY 9 XK 1,500 13,500
10[¥ 2 TARR 13] K 420 5,460
1/\wka14+— 40 7N 600 24,000
R|BEIEHAT12Y) 184 m 1,500 276,000
13|1>—U>y 350 m 460 161,000
14[FE—b 3 = 4,500 13,500
15|f5KT—7 4 & 450 1,800
16| 4#1E & 2| kb 650 1,300
17|53 # 05 & 1 = 35,000 35,000
18
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24
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= i 1,126,690
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3JEKHEKTE 100VU 9 m 4,800 43,200
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